Review of Verb morphology and I.D. pp. 7-11, 17, 27-30, 83-84, 109-12, 119-21, 185-88

Principal Parts and their tenses:

Part | Tense Marker(s)

1 present active, middle, passive
imperfect (e augment)

2 future active, middle o

3 aorist active, middle € (augment) and o

4 perfect active reduplication
pluperfect active € augment + redup

5 perfect middle, passive reduplication
pluperfect middle, passive € augment + redup

6 aorist passive € (augment) -6n
future passive -6n (oopad)

Assimilation (esp. to an aspirate before -0n, 6th part, p.111):

labial dental velar
unvoiced T T K
voiced B 5, ¢ Y
aspirated (+ h) @ 0 X

Example: dpépw, olow, Aveykov, Evrivoxa, EvveyUaL, NVEXONV

Deponent verbs are not consistent about using the principal parts that correspond with ‘middle’ voice. l.e., they should use 1, 2, 3
and 5, but some use the aorist passive (6) in place of the aorist middle (3), and many use both.



Verb I.D.

Person Number | Tense Mood Voice

11, we singular | present indicative active

2 You plural imperfect | subjunctive | middle

3 He, she, it, they future optative passive
aorist imperative | (deponent - middle)
perfect participle
pluperfect | infinitive

Primary and Secondary Endings of Greek verbs:

Tense Primary Primary Secondary Secondary Secondary
Active Middle-Passive Active Middle Passive
Present -W -OUEV -pot -peba
Future -EI  -€T€ -eL (-oal) -06¢
-€L -ouoi(v) | -tat -vtal
Imperfect -ov -OlEV -opunv  -opegba | Imperf. same as
2nd Aorist -£G -€TE ou (-ec0) -ecBe | middle; 2nd Aor.
-€ -ov -€T0 -ovVTo same as 1st*
1st Aorist -a -QHEV -aunv  -apeba | -6nv -Bnuev
-0G -oTe -w (-ao0) -acBe | -6n¢ -Onte
-€ -av -ato -avto -6n -Bnoav
Perfect -pot -peba | -a -OUEV
-oat -00¢ -0G -ote
-Tal -vtalt -€ -aoi(v)
Pluperfect -n -EUEV same as passive | -unv -pueba
-nNg -ETE -00 -e00¢
-€L -EoQV -T0 - #

* Some verbs have a 2nd Aorist passive without -8-, but it does not correspond to whether the verb is 2nd Aorist in the 3rd part.
# The 3P pluperfect passive is supplied by most verbs using a participle + imperfect of the verb “to be’: yeypappévol Aoav.




Subject-verb agreement with 3rd person verbs: 3S verbs go with singular subjects (nominative singular noun); 3P with plural nouns.
Exception: a neuter plural may pattern with either 3S or 3P

Active, middle (deponent) translations:

Present: | work, | am working

Imperfect: | was working, | worked (special: began to, wanted to, used to, started to)

Future: | shall / will work

Aorist: | worked (past tense only in the indicative or when participle or infinitive stands for original indicative)
Perfect: | have worked

Pluperfect: | had worked

Passive translations:

Present: it is built / is being built
Imperfect: it was being built / was built
Future: it will be built

Aorist: it was built

Perfect: it has been built

Pluperfect: it had been built

Recessive accent of verbs:

Acute on third to last if last is short: AUopev

Acute on second to last if last is long: katoAlnelg

Length is not affected by final consonants for purposes of verb accent; look for n, w, diphthongs

Contract verbs: accent the uncontracted form; if the first of the two vowels takes the accent, it will circumflex - mot-¢-eL > moLet, &-
Tol-g-€ > €noleL



